Chapter22HW
Multiple Choice
Identify the choice that best completes the statement or answers the question.
____
1.
Which of the following relationships involves asymmetric information?

	a.
	An employee knows more than his employer knows about his work effort.

	b.
	A borrower knows more than the lender about his ability to repay the loan.

	c.
	The seller of a 30-year-old house knows more than the buyer about the condition of the house.

	d.
	All of the above are correct.


____
2.
The problem that arises when one person performs a task on behalf of another person is called

	a.
	the hidden characteristics problem.

	b.
	the lemons problem.

	c.
	moral hazard.

	d.
	adverse selection.


____
3.
Which of the following is an example of an adverse selection problem?

	a.
	A customer purchases four apples, two of which are inedible.

	b.
	A card shop puts its Halloween merchandise on sale on November 1st.

	c.
	A young worker is fired after she is late for work three times in one month.

	d.
	A man whose father had a heart attack wants to increase his life insurance coverage.


Short Answer

4.
Explain how the presence of asymmetric information in car insurance markets may lead people who are good drivers or even average drivers to choose not to buy car insurance unless the law requires it.

